

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form 990-PF Department of the Treasury Internal Revenue Service

EXTENDED TO NOVEMBER 15, 2016

Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

Do not enter social security numbers on this form as it may be made public.

Information about Form 990-PF and its separate instructions is at www.irs.gov/form990pf

FUI	Calei	idai yeai 2015 di tax yea	ir neginining			, and e	inuniy				
Na	me o	f foundation						A Employ	er identification	number	
S	CH	WARTZ FOUND	NOITA					20-	5280622	}	
Nur	mber a	and street (or P O box number	ıf mail is not deli	vered to street	address)		Room/suite	R Telenho	ne number		
5	10	0 SW 10TH A	TIMAN				200		-272-51	0.2	
							200				
	-	own, state or province, c			oostal code			C If exempt	ion application is p	ending, check here	
	<u>40'</u>	<u>EKA, KS 66</u>	<u>604-209</u>	<u> 4 </u>				}			
G (Check	call that apply:	」Inıtıal returi	1	Initial return of a f	ormer public	charity	D 1 Fore	gn organization	s, check here	
			🗋 Fınal return		Amended return			١ .			
			Address cha	ange	Name change			Z Foreig check	n organizations me here and attach co	eeting the 85% test, emputation	
H (Check	type of organization:	X Section	1.501(c)(3) e	xempt private foundation			 - - - - - - - - - -	. f	atus was termina	
	_	ection 4947(a)(1) nonexe			Other taxable private found	ation				itus was terriina)(A), check here	
يك 1 C		arket value of all assets a			ing method; X Cash	Acc	ruol	}	,		
			t enu oi yeai		•	Acc	iuai			60-month termi	
		Part II, col (c), line 16)	4 014		ther (specify)			unaers	ection 507(b)(1)(B), check here	
	<u> </u>	1,/9		(Part I, colu	ımn (d) must be on cash t	pasis)		ļ		T	
<u>.</u> Pε	art I	Analysis of Revenue a (The total of amounts in col	I na Expenses umns (b), (c), and	(d) may not	(a) Revenue and		nvestment		djusted net	(d) Disburs for charitable	sements purposes
		necessarily equal the amou	nts in column (a))	expenses per books	inc	ome	!	ncome	(cash basi	
	1	Contributions, gifts, gra	nts, etc., recen	ved	1,649,511.	1	74 No	1	, X 🐪	1 %	? *
	2	Check If the founda	tion is not required to	attach Sch B		18 18				1 1	. 45
	3	Interest on savings and temp	oorary		60,662.	6	0,662.			STATEM	
	1	Dividends and interest f	rom cacuritiae		38,734.		8,734.	<u> </u>		STATEM	
	7		TOTAL SCOULTERS		30,731		0,754.	<u> </u>		DINIZER.	
	1	Gross rents			* * * * * * * * * * * * * * * * * * *	* *	**	<u> </u>		 ***	*
	6	Net rental income or (loss)			10 000		<u> </u>	» ",	- 1	<u> </u>	
ď	6a	Net gain or (loss) from sale of Gross sales price for all			10,902.	, 9 . 6		3 3	* 1	1, 1, 1	<u> </u>
Ē	b	assets on line 6a	340	<u>,135.</u>	1 1 1		13	4 19	<u> </u>	d 43 1	À
Revenue	7	Capital gain net income (from	n Part IV, line 2)			L 1	0,902.	<u>) </u>	<u> </u>		4 %
ă	8	Net short-term capital g	aın				V (V)) , ' /
	9	Income modifications			11 11 11 11	₩ ×	*			200	1 1
•	1 -	Gross sales less returns and allowances	1			7 1		1 %	* *		3 7
	Ι.						,		***		* .
	1	Less Cost of goods sold	L		%) (%) ***			3.35 3		 	<u> </u>
}	1	Gross profit or (loss)			F04	*	<u>*</u>	ļ		<u> </u>	
	11	Other income			594.		594.		0.	STATEM	ENT 3 🖁
	12	Total. Add lines 1 throu	gh 11		1,760,403.	11	0,892.		0.		<u> </u>
	13	Compensation of officers, di	rectors, trustees,	etc	0.		0.		0.		0.
	14	Other employee salaries	and wages					_			
	15	Pension plans, employe	e benefits				-				
ď	1	Legal fees									
Š	h	Accounting fees	ST	MT 4	910.		0.		0.	 	910.
e e	3	Other professional fees		MT 5	9,043.		8,080.		0.	8	079.
Û]		51	.III J	4.		4.	 	0.	 	0.
	17	Interest	O.II	13.6FB (
Administrative Exnens	18	Taxes		MT 6	65.		65.	<u> </u>	0.	NOS. 5. 48	<u> </u>
<u>.</u>	19	Depreciation and deplet	ion					ļ			The state of the s
Ë	20	Occupancy			<u></u>					<u> </u>	
A	21	Travel, conferences, and	i meetings					l		<u> </u>	
an d	22	Printing and publication	S								
	23	Other expenses		MT 7	40.		0.		0.		40.
ا سو	24	Total operating and ad									
20	27	Total operating and add	1)	10,062.		8,149.		0.		020
1 000	<u> </u>	expenses. Add lines 13	inrough 23 ~		5,250.		1.00	3 3		 	029.
<u> </u>	25	Contributions, gifts, gra	nts paid		5,230.	<u> </u>	<u> </u>	1	: \$ _ * \$,250.
()	26	Total expenses and dis	bursements!ស្វ	S-08(45.545			ł	-	} .	
DEC 0 5 2018	ļ	Add lines 24 and 25			15,312.		8,149.	<u> </u>	0.	14	1,279.
	27	Subtract line 26-from lin	ne 12.	-115						- Maria 14	, * *
ڊع	a	Excess of revenue over expe	nses and disburs	sements	1,745,091.	\$ ×	<u> </u>	71 18	; ¥ %.*	3 *)	į
드 드		Net investment income			1111 / 1111	10	2,743.	** .	1 4	1	. , ⁴ , 3
Ź	1	Adjusted net income (if			1 11 11 1 X	7 1 4	,		0.		* * *
CANNED 5235	01	LHA For Paperwork			instructions					Form 990	- PF (2015)
S 11-2	→- 10	in the supplemental the supplementa		955	3			129		. 5, 11, 556	(2010)
	11	0 143399 874	1330			N 4 U 3 U	ССПМУ Б	~ <i>1</i>	CITADNU	v V	87433
7-4-6-7-1	T T	O TECORY OIL	±220		2013.	04070	PCHMVK	TO FO	74DY T T ()	, , , , , , , , , , , , , , , , , , ,	01400

Form 990-PF (2015) SCHWARTZ FOUNDATION 20-5280622 Page 2 Part-II Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only Beginning of year Fnd of year (a) Book Value (b) Book Value (c) Fair Market Value 55,753. 101,756. 55,753. 1 Cash - non-interest-bearing 2 Savings and temporary cash investments 3 Accounts receivable ► Less: allowance for doubtful accounts 4 Pledges receivable ► Less: allowance for doubtful accounts 5 Grants receivable 6 Receivables due from officers, directors, trustees, and other disqualified persons 7 Other notes and loans receivable Less: allowance for doubtful accounts 8 Inventories for sale or use 9 Prepaid expenses and deferred charges 10a Investments - U.S. and state government obligations b Investments - corporate stock c Investments - corporate bonds 11 Investments - land, buildings, and equipment basis Less accumulated depreciation 12 Investments - mortgage loans STMT 9 Ο. 161 13 Investments - other 14 Land, buildings, and equipment: basis Less accumulated depreciation 15 Other assets (describe ► 16 Total assets (to be completed by all filers - see the 101,756. 1,794,914 794,914 instructions. Also, see page 1, item I) 17 Accounts payable and accrued expenses 18 Grants payable 19 Deferred revenue 20 Loans from officers, directors, trustees, and other disqualified persons 21 Mortgages and other notes payable 22 Other liabilities (describe 0 0 Total liabilities (add lines 17 through 22) Foundations that follow SFAS 117, check here and complete lines 24 through 26 and lines 30 and 31 Balances 24 Unrestricted 25 Temporarily restricted 26 Permanently restricted Fund ightharpoonsFoundations that do not follow SFAS 117, check here and complete lines 27 through 31. þ 0. 27 Capital stock, trust principal, or current funds 0. 0 . 28 Paid-in or capital surplus, or land, bldg, and equipment fund 101,756. 1,794,914. Retained earnings, accumulated income, endowment, or other funds STATEMENT 101,756. 1,794,914 30 Total net assets or fund balances 101,756 794 914 Total liabilities and net assets/fund balances Analysis of Changes in Net Assets or Fund Balances 1 Total net assets or fund balances at beginning of year - Part II, column (a), line 30 (must agree with end-of-year figure reported on prior year's return) 101,756. 2 Enter amount from Part I, line 27a 745,091. Other increases not included in line 2 (itemize) BOOK ADJUSTMENTS FOR CONTRIBUTIONS 3 Add lines 1, 2, and 3 847,114. 4 5 Decreases not included in line 2 (itemize) ► UNREALIZED MARKET ADJUSTMENTS 52,200. 5 6 Total net assets or fund balances at end of year (line 4 minus line 5) - Part II, column (b), line 30 794,914. Form 990-PF (2015)

Porm 990-Pf (2015) SCHV	VARTZ FOUNDATION	vootmont	Incomo	OTT AMO			-5280		Page 3
			income	SEE ATT			TEME		
	ibe the kind(s) of property sold (e.g. rehouse; or common stock, 200 shs			P - Purchase D - Donation	, (c) Date acq (mo., day,	yr.)	(d) Date s (mo., day,	
1a		`		D Donation	_	<u> </u>			
b									
С									
d									
_e				<u> </u>			1		
(e) Gross sales price	(f) Depreciation allowed (or allowable)		st or other basis expense of sale			(h) Gain (e) plus (f)	or (loss) minus (g)	
<u>a</u>					_				
<u>b</u>		<u> </u>							
<u>c</u>			 -						
e 340,135.	 		329,23	3				10,9	102
	gain in column (h) and owned by t	he foundation			(I) (ains (Col.	(b) coup m		702.
(i) F.M.V. as of 12/31/69	(j) Adjusted basis as of 12/31/69	(k) E>	cess of col. (1)		col. (I	k), but not Losses (fro	less than	-0-) or	
a									
b									
c									
_d									
_e								10,9	<u> </u>
2 Capital gain net income or (net cap	oital loss) $\begin{cases} If gain, also enter \\ If (loss), enter -0. \end{cases}$	r in Part I, line - in Part I, line	7 : 7	} 2	10,90			902.	
3 Net short-term capital gain or (los:	s) as defined in sections 1222(5) an	d (6):							
If gain, also enter in Part I, line 8,		` ,)					
If (loss), enter -0- in Part I, line 8 Part V Qualification Ur	day Saatian 4040/a) far	Daduad	Tour on Not	3			N/A		
L					IIICOII	16			
(For optional use by domestic private	foundations subject to the section 4	1940(a) tax on	net investment in	come.)					
If section 4940(d)(2) applies, leave th	is part blank.								
Was the foundation liable for the secti	on 4042 tay on the distributable am	ount of any vo	ar in the bace per	10d2			Г	Yes 🔽	ž Na
If "Yes," the foundation does not qualif			•	iou ^r			L	1 165 [2	<u>z</u>] NU
1 Enter the appropriate amount in ea				ntries.					
(a) Base period years	(b)			(c)			Dietribu	d) tion ratio	
Calendar year (or tax year beginnin	g in) Adjusted qualifying dist		Net value of no	ncharitable-use a	ssets	(col	l. (b) divid	ed by col. (c)))
2014		1,183.			353.			.141	
2013		1,385.			902.				3181
2012		1,054.			525.			.648	
2011		1,250.			989.			1.263	
2010		6,438.	L	1,8	322.			9.021	.954
2 Total of line 1, column (d)						2		11.804	1279
3 Average distribution ratio for the 5 the foundation has been in existen		on line 2 by 5,	or by the number	or years		3		2.360	<u>)856</u>
4 Enter the net value of noncharitable	e-use assets for 2015 from Part X, I	ine 5				4		782,3	368.
5 Multiply line 4 by line 3						5	1	,8 <u>4</u> 7,0)58.
6 Enter 1% of net investment income	e (1% of Part I, line 27b)					6		1,0	27.
7 Add lines 5 and 6						7	1	,848,0)85.
8 Enter qualifying distributions from	Part XII, line 4					8		14,2	<u> 279.</u>
If line 8 is equal to or greater than See the Part VI instructions.	line 7, check the box in Part VI, line	1b, and comp	olete that part usin	g a 1% tax rate.					
523521 11-24-15							Fo	rm 990-PF	(2015

	990-PF (2015) SCHWARTZ FOUNDATION rt VI . Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 49	20-	5280	622	Page 4
1a b c 2 3 4 5 6 a b c	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1. Date of ruling or determination letter: (attach copy of letter if necessary-see instructions) Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1% of Part I, line 27b All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b). Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) Add lines 1 and 2 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0- Credits/Payments: 2015 estimated tax payments and 2014 overpayment credited to 2015 Exempt foreign organizations - tax withheld at source Tax paid with application for extension of time to file (Form 8868) Backup withholding erroneously withheld Total credits and payments. Add lines 6a through 6d Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed SEE STATEMENT 10 Overpayment If line 7 is more than the total of lines 5 and 8, enter the amount overpaid Enter the amount of line 10 to be: Credited to 2016 estimated tax	1 2 3 4 5 7 8 9		2,(0. 0. 0. 0. 0. 0. 0. 49. 04.
	rt VII-A Statements Regarding Activities	1111			
1a b c d e 2 3 4a b 5 6	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene any political campaign? Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition) if the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published distributed by the foundation in connection with the activities Did the foundation file Form 1120-POL for this year? Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year: (1) On the foundation. \(\bigcite \) \(\bigcite \) \(\text{0.2} \) O foundation managers. \(\bigcite \) \(\bigcite \) \(\text{0.2} \) O. Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. \(\bigcite \) \(d or	/A	1a 1b 1c 2 2 3 4a 4b 5 5 6 X 7 X	X X X X X X
	Enter the states to which the foundation reports or with which it is registered (see instructions) KS				
b	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)			8b X	
9	of each state as required by General Instruction G? If "No," attach explanation Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for caler	ndar		8b X	1
3	year 2015 or the taxable year beginning in 2015 (see instructions for Part XIV)? If "Yes," complete Part XIV	rual		9	X
10		TMT	11	10 X	
				m 990-PF	(2015)

523561 11-24-15

Total. Add lines 1 through 3

LP.	Art X Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations, see instruct	ions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
·	Average monthly fair market value of securities	1a	675,832.
b	Average of monthly cash balances		118,450.
c	Fair market value of all other assets	10	
d	Total (add lines 1a, b, and c)		794,282.
e	Reduction claimed for blockage or other factors reported on lines 1a and	*	
Ī	1c (attach detailed explanation) 1e 0.	*,	
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d		794,282.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	11,914.
5	Net value of noncharitable-use assets Subtract line 4 from line 3. Enter here and on Part V, line 4		782,368.
6	Minimum investment return. Enter 5% of line 5	6	39,118.
P	art XI [Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations an	nd certain	
_	foreign organizations check here and do not complete this part.)		
1	Minimum investment return from Part X, line 6	1	39,118.
2a	Tax on investment income for 2015 from Part VI, line 5	*	
b	Income tax for 2015. (This does not include the tax from Part VI.)] %	
С	Add lines 2a and 2b	2c	2,055.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	37,063.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	37,063.
6	Deduction from distributable amount (see instructions)	6	0.
7_	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	37,063.
<u>P</u>	Qualifying Distributions (see instructions)		
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		
а	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	14,279.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:	* 1	
a	Suitability test (prior IRS approval required)	3a	
ь	Cash distribution test (attach the required schedule)	3b	
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	14,279.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment		
	income. Enter 1% of Part I, line 27b	5	0.
6	Adjusted qualifying distributions Subtract line 5 from line 4	6	14,279.
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation q 4940(e) reduction of tax in those years.	ualifies for the section	

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b)	(c)	(d)
1 Distributable amount for 2015 from Part XI,	Corpus	Years prior to 2014	2014	2015
line 7			<u> </u>	37,063.
2 Undistributed income, if any, as of the end of 2015				37,003.
a Enter amount for 2014 only		4	0.	, , ,
b Total for prior years:				*
·		O.	*	
3 Excess distributions carryover, if any, to 2015		×		, , , , , , ,
a From 2010 16,347	-	33	, , , , ,	
b From 2011 1,201				
c From 2012 973	·			
d From 2013 1,290				
e From 2014 765				
f Total of lines 3a through e	20,576.	* * * *		
4 Qualifying distributions for 2015 from		* * * * *	3 () N () N	
Part XII, line 4: ► \$ 14,279				
a Applied to 2014, but not more than line 2a			0.	
b Applied to undistributed income of prior				YNY Y Z
years (Election required - see instructions)	. 1 1 1	0.		
c Treated as distributions out of corpus		1		
(Election required - see instructions)	0.	<u> </u>		
d Applied to 2015 distributable amount		1 1 1 1 1 1 1 1 1		14,279.
e Remaining amount distributed out of corpus	0.	1 1 1 1 1 1 1 1 1 1		* () () *)
5 Excess distributions carryover applied to 2015 (If an amount appears in column (d), the same amount	20,576.	* * * * * * * *	* 1 1 1 1 7 7	20,576.
must be shown in column (a))		* * * * * * * * * * * * * * * * * * * *		
6 Enter the net total of each column as				
indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	0.		<u> </u>	
b Prior years' undistributed income. Subtract line 4b from line 2b			4 3 3 3 3 3 3 3	1 7 1 1 1 1
c Enter the amount of prior years'		0.		1 1 1 2 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2
undistributed income for which a notice of				* * * * / / / /
deficiency has been issued, or on which		İ		
the section 4942(a) tax has been previously assessed				
d Subtract line 6c from line 6b. Taxable		0.		
amount - see instructions				
e Undistributed income for 2014. Subtract line		0.	1 1 1	
4a from line 2a. Taxable amount - see instr.			\ *:	
f Undistributed income for 2015. Subtract				
lines 4d and 5 from line 1. This amount must				
be distributed in 2016				
7 Amounts treated as distributions out of	L			2,208.
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election				
may be required - see instructions)	0.			
8 Excess distributions carryover from 2010	———— —	 		
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2016.		* 12		
Subtract lines 7 and 8 from line 6a				
10 Analysis of line 9:		· · · · · · · · · · · · · · · · · · ·		
a Excess from 2011				
b Excess from 2012				
c Excess from 2013				
d Excess from 2014				
e Excess from 2015				
523581 11-24-15	* * * * * *	* %3 % .3	* · * * * * *	4 \$ 32

10

	Z FOUNDATIO			20-52	80622 Page 10
Part XIV. Private Operating F	oundations (see in	structions and Part VII	A, question 9)	N/A	
1 a If the foundation has received a ruling o	r determination letter that	it is a private operating	1		
foundation, and the ruling is effective fo	r 2015, enter the date of t	he ruling	▶		
b Check box to indicate whether the found	dation is a private operatir	ig foundation described i	n section	4942(j)(3) or 49	942(j)(5)
2 a Enter the lesser of the adjusted net	Tax year		Prior 3 years		
income from Part I or the minimum	(a) 2015	(b) 2014	(c) 2013	(d) 2012	(e) Total
investment return from Part X for					
each year listed		{	}		
b 85% of line 2a					
c Qualifying distributions from Part XII,					
line 4 for each year listed		i	1		
d Amounts included in line 2c not					
	}		}		
used directly for active conduct of	:	ļ			
exempt activities			 		
e Qualifying distributions made directly]		
for active conduct of exempt activities.))	}
Subtract line 2d from line 2c			<u> </u>		
3 Complete 3a, b, or c for the alternative test relied upon:	{		{	}	ļ
a "Assets" alternative test - enter:	Į.		i		
(1) Value of all assets			<u> </u>	_L	
(2) Value of assets qualifying	1				
under section 4942(j)(3)(B)(i)	t 				}
b "Endowment" alternative test - enter]		
2/3 of minimum investment return	ĺ		ļ		
shown in Part X, line 6 for each year listed					
c "Support" alternative test - enter:	<u> </u>	<u> </u>			
(1) Total support other than gross	}		•		
investment income (interest,					
dividends, rents, payments on	ĺ		ļ		
securities loans (section					
512(a)(5)), or royalties)	}	 	 -	-}	
(2) Support from general public and 5 or more exempt					
organizations as provided in	1		{		
section 4942(j)(3)(B)(iii)	ļ		ļ		
(3) Largest amount of support from				1	
an exempt organization	ļ				
(4) Gross investment income	<u> </u>				
Part XV Supplementary Info			f the foundation	n had \$5,000 or moi	e in assets
at any time during t	he year-see instri	uctions.)			
1 Information Regarding Foundatio	n Managers:				
a List any managers of the foundation wh	o have contributed more t	han 2% of the total contr	ibutions received by th	e foundation before the clos	e of any tax
year (but only if they have contributed n	nore than \$5,000). (See s	ection 507(d)(2).)			
NONE					
b List any managers of the foundation who other entity) of which the foundation has			or an equally large por	tion of the ownership of a pa	rtnership or
NONE	3				
	an Orant Cift Laan	Cabalanahin ata Du			
2 Information Regarding Contributi			-		
Check here if the foundation of the foundation makes gifts, grants, etc.					
					<u></u>
a The name, address, and telephone numl			cations snould be addr	essed:	
STEVE CLINKINBEARD,				•	
5100 WEST 10TH, TOPE					
b The form in which applications should b WRITTEN NARRATIVE	e submitted and informat	ion and materials they sh	ould include:		
c Any submission deadlines:					_
NONE					
d Any restrictions or limitations on award: NONE	s, such as by geographica	l areas, charitable fields,	kınds of institutions, o	r other factors:	· — _
523601 11-24-15					Form 990-PF (2015)

3 Grants and Contributions Paid During the	Year or Approved for Future I	Payment		
Recipient	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of	Purpose of grant or contribution	Amount
Name and address (home or business)	or substantial contributor	recipient		
a Paid during the year				
HAYDEN PACE AUCTION	NONE	PC	EDUCATION	
401 SW GAGE		1	l i	
TOPEKA, KS 66606		·		1,000
		1		
TOPEKA RESCUE MISSION	NONE	D.C.	ACCION MUE DIODINGED (
600 N KANSAS AVE	NONE	PC	ASSIST THE DISPLACED & HOMELESS	
TOPEKA, KS 66608	}	{	NOMBER OF	1,000
				·
CHILDRENS MERCY HOSPITAL	NONE	PC	MEDICAL AID TO	
2401 GILLHAM ROAD			CHILDREN SUFFERING	
KANSAS CITY, MO 64108		 	ILLNESS	1,000
		1		
		1		
		Į.		
		ļ	 	
		1		
]		
		1		
		1		
Total		<u> </u>	▶ 3a	3,000
b Approved for future payment		1		
NONE		Į.		
]		
		 	 	
		Ì]	
		ł		
		1		
 	-	}		
		1		
		1		-
		L		
<u>Total</u>	 _		<u>▶</u> 3b	0

Part XVI-A	Analysis	of Income-Producing	Activities
------------	----------	---------------------	------------

Enter gross amounts unless otherwise indicated.	Unrelate	ed business income		ided by section 512, 513, or 514	(e)
1 Program service revenue:	(a) Business code	(b) Amount	Exclu- sion code	(d) Amount	Related or exempt function income
a	0000				
b	-		\perp _		
c	- }		↓		
d	-	 	┼		
e	-		┼	 	
g Fees and contracts from government agencies	·		 		
2 Membership dues and assessments			 		
3 Interest on savings and temporary cash					
investments			<u></u>		60,662.
4 Dividends and interest from securities			<u> </u>		38,734.
5 Net rental income or (loss) from real estate:	<u> </u>		· **		** * * * * *
a Debt-financed property			ļ		
b Not debt-financed property		<u></u>	╂		<u> </u>
6 Net rental income or (loss) from personal	[ļ	
property 7 Other investment income			+		594.
8 Gain or (loss) from sales of assets other	}		╁──	 	394.
than inventory	1		Ì	i i	10,902.
9 Net income or (loss) from special events					
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:					
a			<u> </u>		
b			↓	 	
c			├ ──	ļ	
d	· 	<u></u>	-	 	
40 Subtatal Add calumna (h) (d) and (a)		0.		0.	110,892.
12 Subtotal. Add columns (b), (d), and (e) 13 Total Add line 12, columns (b), (d), and (e)	<u> </u>		- ₹	13	110,892.
(See worksheet in line 13 instructions to verify calculations.)				10	120,002
Part XVI B Relationship of Activities	to the Acco	mplishment of Ex	empt	Purposes	
Line No. Explain below how each activity for which income the foundation of a support purposes (other than			contrib	outed importantly to the accom	nplishment of
the foundation's exempt purposes (other than 1 NOT APPLICABLE	by providing ful	ids for such purposes).			
I NOT APPLICABLE		"			
					
					
				····	·
					
				 	
					
					
					
	 				
					
					

Par	t XVII.	Information Re Exempt Organ		sfers To a	and Transactions a	ind Relationsh	ips With Noncha	ritable		
1	Did the o			of the following	ng with any other organizati	on described in secti	on 501(c) of		Yes	No
					7, relating to political organ		011 00 1(0) 01	7		
		s from the reporting found						1 , 4	; ,	ĺ
	(1) Cash	· -			y			1a(1)		Х
	(2) Othe							1a(2)		Х
		nsactions:							, j	
	(1) Sale	s of assets to a noncharita	ble exempt organiza	ation				1b(1)		X
	(2) Purc	chases of assets from a no	ncharitable exempt	organization				1b(2)		X
	(3) Rent	tal of facilities, equipment,	or other assets					16(3)		Х
	(4) Rein	nbursement arrangements						1b(4)		Х
	(5) Loar	ns or loan guarantees						1b(5)		X
1	(6) Perf	ormance of services or me	mbership or fundra	ısıng solıcıtatıo	ns			16(6)		X
	-	of facilities, equipment, ma	-					1c	l	X
					edule. Column (b) should a ed less than fair market vali				ets,	
	column (d) the value of the goods,			·	·····				_
(a) Lir	ne no	(b) Amount involved	(c) Name o		e exempt organization	(d) Description	of transfers, transactions, and	sharing arra	angemer	its
			<u> </u>	<u> </u>						
			<u> </u>							
					· — — — — — — — — — — — — — — — — — — —					
										
			 			-}				
										
			 							
										
										
										
1	ın sectior	undation directly or indirect in 501(c) of the Code (other complete the following sch	r than section 501(c			izations described	[Yes	X] No
		(a) Name of org	ganization		(b) Type of organization		(c) Description of relation	ship		
		N/A								
					<u> </u>	ļ				
					 	 				
					 	 				
		i poruni. I doploro t	that I have everyned the	n return uneludine	accompanying schedules and s	tatamanta and to the har	ot of my knowledge			
				-	taxpayer) is based on all informa	ation of which preparer ha	as any knowledge re	ay the IRS of turn with the town below	prepare (see inst	er tr)?
		officer or trustee		 ;	L Date	PRESID	, 15 TA T	X Yes		_ No
		pe preparer's na		Preparer's s		Date /	Check If PTIN			
), prop	_			11/11/11	self- employed			
Pai	d	JAMES SHOW	$_{ ext{ALTER}} \subset$	1/a K	Shoul 90	1/16		0235	090	
Pre	parer	Firm's name ► CBI		4.			Firm's EIN ► 34-1			
	e Only	,	, -7							
		Firm's address ▶ 99	0 SW FAIR	RLAWN R	OAD		 			
	_		PEKA, KS		_		Phone no. 785-2	72-3	176	
								Form QQ((0045)

Part IV Capital Gains and Lo	sses for Tax on Investment Income				
(a) List and describe the kind(s) of property sold, e.g., real estate, 2-story brick warehouse; or common stock, 200 shs. MLC Co.				(c) Date acquired (mo., day, yr.)	(d) Date sold (mo., day, yr.)
1a FIDELITY INVESTMENTS - DETAIL ATTACHED			D - Donation D	07/05/15	12/31/15
b WELLS FARGO #5	888 - DETAIL ATTA	ACHED	D	07/05/15	
	37 - DETAIL ATTAC		D	07/05/15	
	ICIARY TRUST K-1		D	12/30/14	
e FAMOUS HOLDING			D	12/30/14	
f FAMOUS HOLDING				07/05/14	
		GAIN		$\frac{37}{30}$	
g FAMOUS HOLDINGS LLC - K-1 1231 GAIN h BLACKSTONE HOLDINGS K-1				$\frac{12}{30}$	
	GED ACCOUNT - DET	PATI AMPACUED			09/15/15
CAPITAL GAINS		AIL ATTACHED		0//13/11	09/15/15
	DIVIDENDS				 _
_k					
					<u></u>
_m		-		<u> </u>	<u> </u>
_n					<u></u>
_0				<u> </u>	
(e) Gross sales price	(f) Depreciation allowed (or allowable)	(g) Cost or other basis plus expense of sale		Gain or (loss) lus (f) minus (g)	
a 7,718.		7,718.	· · · · · · · · · · · · · · · · · · ·		0.
b 151,175.		151,175.			0.
c 44,447.		44,447.			0.
d 16,153.		16,153.			0.
e 112.		112.		· · · · · · · · · · · · · · · · · · ·	0.
f					0.
2 000		2,092.			0.
		82.			0.
107,454.		107,454.			0.
10,902.		107,434.			10,902.
					10,302.
<u>k</u>					
	 				
<u>m</u>	<u> </u>				
<u>n</u>	<u> </u>				
0	<u> </u>				
Complete only for assets showing	ng gain in column (h) and owned by the		(I) Los	ses (from col. (h))	
(i) F.M.V as of 12/31/69	(j) Adjusted basis	(k) Excess of col. (I)	Gains (excess o	if col (h) gain over ot less than "-0-")	col. (k),
	as of 12/31/69	over col. (j), if any			
<u>a</u>					0.
<u>b</u>					0.
<u>c</u>		<u> </u>			0.
d					0.
<u>e</u>					0.
f					0.
g					0.
h				-	0.
1					0.
					10,902.
k					
1					
m					
n				-	
		 			
0	<u> </u>	· · · · · · · · · · · · · · · · · · ·			
a Capital dain not income or (not co	apıtal loss) { If gain, also enter If (loss), enter "-0	in Part I, line 7_ }			10 000
2 Capital gain net income or (net ca	t If (loss), enter "-0	r in Part I, line 7 /	2		10,902.
	ss) as defined in sections 1222(5) and	d (6):	1		
If gain, also enter in Part I, line 8,		†		NT / A	

Schedule B

(Form 990; 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Schedule of Contributors

➤ Attach to Form 990, Form 990-EZ, or Form 990-PF.

Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.irs.gov/form990.

OMB No 1545-0047

2015

Name of the organization

Employer identification number

Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

	SCHWARTZ FOUNDATION	20-5280622						
Organization type (check	< one)							
Filers of:	Section:							
Form 990 or 990-EZ	501(c)() (enter number) organization							
	4947(a)(1) nonexempt charitable trust not treated as a private foundation							
	527 political organization							
Form 990-PF	X 501(c)(3) exempt private foundation	X 501(c)(3) exempt private foundation						
	4947(a)(1) nonexempt charitable trust treated as a private foundation							
	501(c)(3) taxable private foundation							
	n is covered by the General Rule or a Special Rule. (c)(7), (8), or (10) organization can check boxes for both the General Rule and a Specia	al Rule See instructions						
General Rule								
	cion filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions to ny one contributor Complete Parts I and II See instructions for determining a contrib							
Special Rules								
sections 509(a)(1 any one contribu	cion described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% sup 1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990-EZ), Part II, line 13, utor, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the a EZ, line 1 Complete Parts I and II	16a, or 16b, and that received from						
year, total contri	tion described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received fibutions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or if cruelty to children or animals Complete Parts I, II, and III							
year, contributio is checked, ente purpose Do not	non described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received fins exclusively for religious, charitable, etc., purposes, but no such contributions totaler here the total contributions that were received during the year for an exclusively related complete any of the parts unless the General Rule applies to this organization becauble, etc., contributions totaling \$5,000 or more during the year	led more than \$1,000 If this box ligious, charitable, etc ,						
but it must answer "No" o	n that is not covered by the General Rule and/or the Special Rules does not file Scheo on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on set the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF)	•						

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF.

Name of organization

Employer identification number

SCHWARTZ FOUNDATION

20-5280622

Part I	Contributors (see instructions) Use duplicate copies of Part I if additional space is needed					
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
1	THOMAS A SCHWARTZ IRREVOCABLE TRUST 5100 WEST 10TH STREET TOPEKA, KS 66604	\$\$	Person X Payroll Noncash (Complete Part II for noncash contributions)			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
2	THOMAS A SCHWARTZ BEQUESTS 5100 WEST 10TH STREET TOPEKA, KS 66604	\$338,141.	Person X Payroll Noncash X (Complete Part II for noncash contributions)			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
3	THOMAS A SCHWARTZ BEQUESTS 5100 WEST 10TH STREET TOPEKA, KS 66604	\$ <u>579,585.</u>	Person X Payroll Noncash (Complete Part II for noncash contributions)			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
4	THOMAS A SCHWARTZ BEQUESTS 5100 WEST 10TH STREET TOPEKA, KS 66604	\$157,856.	Person X Payroll			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
5	THOMAS A SCHWARTZ BEQUESTS 5100 WEST 10TH STREET TOPEKA, KS 66604	\$ <u>253,292.</u>	Person X Payroll X Noncash X (Complete Part II for noncash contributions)			
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution			
6	THOMAS A SCHWARTZ BEQUESTS 5100 WEST 10TH STREET TOPEKA, KS 66604	s <u>189,248.</u>	Person X Payroll Noncash (Complete Part II for noncash contributions)			

'Schedule' B (Form 990, 990-EZ, or 990-PF) (2015) Page 2 Name of organization Employer identification number SCHWARTZ FOUNDATION 20-5280622 Part I Contributors (see instructions) Use duplicate copies of Part I if additional space is needed (a) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution 7 FAMOUS BRANDS X Person Payroll 5100 WEST 10TH STREET 50,000. Noncash (Complete Part II for TOPEKA, KS 66604 noncash contributions) (a) (c) (d) No. Name, address, and ZIP + 4 Total contributions Type of contribution 8 THOMAS A SCHWARTZ BEQUESTS X Person Payroll 5100 WEST 10TH STREET 56,389. Noncash (Complete Part II for TOPEKA, KS 66604 noncash contributions) (a) (b) (c) (d) Name, address, and ZIP + 4 Total contributions Type of contribution No. Person Pavroll Noncash (Complete Part II for noncash contributions) (d) (a) (c) Name, address, and ZIP + 4 **Total contributions** Type of contribution No. Person Payroll Noncash (Complete Part II for noncash contributions) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution Person Payroll Noncash (Complete Part II for noncash contributions) (a) (b) (c) (d) No. Name, address, and ZIP + 4 **Total contributions** Type of contribution

523452 10-26-15

Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

Person Payroll Noncash (Complete Part II for noncash contributions)

Employer identification number

SCHWARTZ FOUNDATION

20-5280622

art II	Noncash Property (see instructions) Use duplicate copies of Pa	art II if additional space is needed	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
2	PUBLICLY TRADED SECURITIES - DETAIL ATTACHED		
2		\$\$\$	07/09/16
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
	PUBLICLY TRADED SECURITIES - DETAIL ATTACHED		
4_		\$ \$\$	07/06/16
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
5	PUBLICLY TRADED SECURITIES - DETAIL ATTACHED		
		\$\$	07/07/16
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(-)			
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
			90. 990-EZ or 990-PF) (

523454 10-26-15 Schedule B (Form 990, 990-EZ, or 990-PF) (2015)

Tax Worksheet

(01/01/2015 To 12/31/2015)

Tax ID 20-5280622

Generation Skipping : N/A

Account Name: Schwartz Foundation IMA

Account Number : 265300

State of Domicile : Kansas

Administrator . Roger T Aeschliman

Accountant CBIZ Accounting Tax Advisory

990 SW Fairlawn Road

Topeka KS 66606-2384

Shares/PV	Asset Sold	Date Acquired	Eow Acc	Date Sold	Eolding Period	Sales Proceeds	Original Cost	Realized Gain/ Loss
10,000	American Express Co note 2 750% 09/15/15 0258MODA4	07/13/2011	в 09	715/2015	Long	10,000.00	10,295.36	-288.36
73	Baxalta Inc 07177M103	10/18/2005	F 07	7/20/2015	Long	2,377.79	1,233.51	1,094.28
50,000	General Electric Cap Corp 5.500% 08/15/15 36966R2D7	08/25/2008	в 08	7/15/2015	Long	50,000.00	52,503.95	-2,503.95
800	ING Group 7 375% PFD 456837707	03/25/2008	B 07	/15/2015	Long	20,000.00	20,672.00	-672.00
25,000	Sara Lee Corp 2.750% 09/15/15 803111AR4	06/20/2011	F 07	/31/2015	Long	25,076.25	25,257,52	-181.25
						107,454.04		-2,551 28

110,005.32

How Acquired: F - Free Receipt, B - Beginning Inventory, C - Call, G - Gift, L - Payment Made (Liability), P - Purchase, R - Reinvestment, S - Spinoff, U - Undetermined

Gain/Loss Summary :

	Short Term GL		Long Term GL
Gains From Sales :	0.00	Gains From Sales .	1,094.28
Losses From Sales :	0 00	Losses From Sales ·	-3,645.56
Common Funds .	0 00	Common Funds :	0.00
Snort Term Gains .	0.00	Long Term Gain :	1,094.28
Short Term Losses :	0.00	Long Term Losses .	-3,645 56
Net Short Term G/L:	0.00	Net Long Term G/L :	-2,551.28
Capital Gain Dist :	0.00	Capital Gain Dist .	10,902.06

Schwartz Foundation Form 990-PF Attachment to Schedule B Part I EIN: 20-5280622 Tax Year 2015

Moto #			Number of	Per Share at	
Ş	Name	Date	Shares	Transfer	Extend Value
2) 5	Summary of public securities transferre	d to Schwartz Fou	ndation		
	ATT	7/9/2015	300.000	34.790	10,437.00
	American Express Note	7/9/2015	1.000	10,038.700	10,038.70
	Baxaita	7/9/2015	73.000	31. 1 50	2,273.95
	Baxter International	7/9/2015	73.000	36.500	2,664.50
	Concophillips	7/9/2015	172.000	58 360	10,037.92
	Dodge & Cox Stock fund	7/9/2015	81.190	177.230	14,389.27
	American Equorpacfic Growth	7/9/2015	121.843	48.330	5,888.67
	Fidelity Adv New Insights	7/9/2015	545.913	27.690	15,116.33
	General Electric 5.5% Bond	7/9/2015	1.000	50,196.250	50,196.25
	Goldman Sachs Satellite Strategies	7/9/2015	3,641.393	7.790	28,366.45
	Harbor International Fund	7/9/2015	179.590	67.180	12,064 86
	JP Morgan chase 2.6% Note	7/9/2015	1.000	25,198.350	25,198.35
	Johnson & Johnson	7/9/2015	185.000	97.770	18,087.45
	McDonalds	7/9/2015	75.000	95.840	7,188.00
	Pimco Income Fund	7/9/2015	3,967.387	12,340	48,957.56
	Pitney Bowes Inc 6.7%	7/9/2015	600 000	26.220	15,732.00
	Westar Energy	7/9/2015	419.000	36.310	15,213.89
	ING Group	7/9/2015	800.000	24.980	19,984 00
	Sara Lee Corp 2.75% Note	7/9/2015	1.000	25,022.730	25,022.73
	Baxalta	7/9/2015	73 000	17.582	1,283.51
	Total				338,141.39

Schwartz Foundation Form 990-PF Attachment to Schedule B Part I

EIN: 20-5280622 Tax Year 2015

Name Wame		Number of	Per Share at	
Name	Date	Shares	Transfer	Extend Value
4) Summary of public securities tran	sferred to Schwartz Fou	ndation		
Accenture PLC Ireland	7/6/2015	44.000	97.340	4,282.96
American Express	7/6/2015	43.000	77.590	3,336.37
Apple Inc	7/6/2015	32.000	126 000	4,032.00
Best buy	7/6/2015	100.000	33.330	3,333.00
H&R Block	7/6/2015	120.000	29.880	3,585.60
Booz Alledn Hamilton	7/6/2015	172.000	25.350	4,360 20
The Buckle	7/6/2015	62 000	45.590	2,826 58
CF Industries Holdings	7/6/2015	85.000	63.550	5,401.75
CVS Health	7/6/2015	65.000	104.810	6,812.65
Cisco systems	7/6/2015	139.000	27.220	3,783 58
Deluxe Corp	7/6/2015	69.000	61.660	4,254.54
Depomed Inc	7/6/2015	205.000	20.640	4,231.20
Discover Financial	7/6/2015	66.000	58.060	3,83 1 .96
Gen! Dynamics	7/6/2015	29.000	143.340	4,156.86
Gilead	7/6/2015	40.000	115.660	4,626.40
Groupe CGI	7/6/2015	111.000	39.540	4,388.94
Hewlett-Packard	7/6/2015	126.000	30.570	3,851.82
Iconix Brand	7/6/2015	159.000	24.880	3,955 92
Interdigital	7/6/2015	78.000	56 300	4,391 40
Lannett	7/6/2015	37.000	57.500	2,127.50
Mallinckrodt	7/6/2015	40.000	119 630	4,785.20
Myriad Genetics	7/6/2015	102.000	33.970	3,464.94
Newlink Genetics	7/6/2015	44.000	45.730	2,012.12
Nu Skin Enterprises	7/6/2015	40.000	45.850	1,834.00
Oracle Corp	7/6/2015	123.000	40.150	4,938.45
Neustar	7/6/2015	77.000	28.050	2,159.85
PDL Biopharma	7/6/2015	395.000	6.180	2,441.10
Pilgrims Pride	7/6/2015	144.000	22.750	3,276.00
Syntel	7/6/2015	94.000	46.320	4,354.08
SPDR S&P 500 Trust ETF	7/6/2015	62.000	206.670	12,813.54
Tessera Tech	7/6/2015	113.000	37.750	4,265.75
USANA Heaqlth Services	7/6/2015	40.000	141,430	5,657.20
Unisys Corp	7/6/2015	130.000	19.640	2,553.20
United Health Group	7/6/2015	62.000	122 160	7,573.92
Vanguard REIT	7/6/2015	56.000	76.580	4,288.48
Viacom Inc	7/6/2015	84.000	63.240	, 5, 312.1 6
Western Refining	7/6/2015	99.000	46.010	4,554.99
Total				157,856.21

Schwartz Foundation Form 990-PF Attachment to Schedule B Part I

EIN: 20-5280622 Tax Year 2015

# #		Number of	Per Share at	
Name #	Date	Shares	Transfer	Extend Value
5) Summary of public securities trans	ferred to Schwartz Fou			
Serivce Master Global	7/7/2015	39.000	35.850	1,398.15
AON PLC	7/7/2015	20.000	100.180	2,003.60
Actelion LTD	7/7/2015	46.000	36.250	1,667.50
Advance Auto Parts	7/7/2015	10.000	163.530	1,635.30
Alliance Global	7/7/2015	36.000	24.770	891.72
Anheuser Busch	7/7/2015	34.000	119 400	4,059.60
Apple Inc	7/7/2015	35.000	125.690	4,399 15
Assa Abloy	7/7/2015	291.000	9.255	2,693.20
Autozone	7/7/2015	3.000	680 740	2,042 22
Baidu Inc	7/7/2015	7.000	187.540	1,312.78
Bristol Myers	7/7/2015	33 000	68 230	2,251.59
CVS health	7/7/2015	21.000	106.380	2,233.98
Cisco Systems	7/7/2015	89 000	27.360	2,435.04
Citigroup	° 7/7/2015	56.000	54.500	3,052 00
Compass Grp	7/7/2015	126 000	16.730	2,107.98
Continential	7/7/2015	62.000	46.990	2,913 38
Credicorp	7/7/2015	10 000	137.620	1,376.20
Daiwa House	7/7/2015	140.000	24.100	3,374.00
Davide Campari	7/7/2015	417.000	3.670	1,530.39
EMC Corp	7/7/2015	72.000	26.600	1,915.20
EOG Resources	7/7/2015	17.000	86 720	1,474.24
Google Inc - NON Voting	7/7/2015	4.000	525.020	2,100.08
Google Inc - Voting	7/7/2015	5.000	550.030	2,750.15
Halliburton	7/7/2015	50.000	41.880	2,094.00
Harley Davidson	7/7/2015	28 000	56.660	1,586.48
Hartford Fincl Svs	7/7/2015	57.000	44.130	2,515.41
Honeywell International	7/7/2015	38.000	102.840	3,907.92
Intercontinental Exchange	7/7/2015	9.000	227.230	2,045.07
Ireland Bank	7/7/2015	56.000	15.450	865.20
JM Smucker	7/7/2015	13 000	109.810	1,427.53
Joy Blobal	7/7/2015	24.000	33.230	797.52
KDDI Corp	7/7/2015	198.000	12,160	2,407.68
Kasikornbank	7/7/2015	50.000	21,170	1,058.50
Kellogg	7/7/2015	12.000	64.120	769.44
Mastercard	7/7/2015	20,000	93.890	1,877.80
McKesson Corp	7/7/2015	8.000	228.230	1,825.84
Microsoft	7/7/2015	35.000	44.300	1,550.50
Molson Coors	7/7/2015	13.000	70.160	912.08
Monsanto	7/7/2015	16 000	107.800	1,724.80
Mylan	7/7/2015	25.000	71 490	1,787.25
Novartis	7/7/2015	38.000	99.170	3,768.46
NOVO Nordisk	7/7/2015	32.000	54.280	1,736.96
	.,-,====	22,000	3-1,200	1,730.30

Schwartz Foundation Form 990-PF Attachment to Schedule B Part I

EIN: 20-5280622

LII4. EU 320	OULL
Fax Year 20	15

NXP Semiconductors	Note #			Number of	Per Share at	
NXP Semiconductors 7/7/2015 14.000 96.470 1,350.58 Provident Financial PLC 7/7/2015 47.000 44,780 2,680.16 Qualcom 7/7/2015 31.000 62.800 1,946.80 Quintiles Yransnational 7/7/2015 31.000 72.860 2,258.66 Reynaolds America 7/7/2015 31.000 72.860 2,258.66 Rockwell Automation 7/7/2015 12.000 125.200 1,502.40 Sampo 7/7/2015 75.000 23.430 1,757.25 Sanlam 7/7/2015 158.000 10.532 1,664.05 Schlumberger 7/7/2015 26.000 84.200 2,189.20 Schwab Corp 7/7/2015 37.000 32.390 1,198.43 Shire PLC 7/7/2015 31.000 15.344 2,117.44 Tal was memonductor 7/7/2015 318.000 15.344 2,117.44 Tal was memonductor 7/7/2015 30.000 33.060 991.80 Telenat 7/7/2015 30	Not	Name	Date	Shares	Transfer	Extend Value
Provident Financial PLC 7/7/2015 47,000 44,790 2,105.13 Prudential 7/7/2015 56,000 47,860 2,680.16 Qualcom 7/7/2015 31,000 62 800 1,946.80 Quintiles Transnational 7/7/2015 31,000 72 860 2,258.66 Reynaolds America 7/7/2015 35,000 76,770 2,686.95 Rockwell Automation 7/7/2015 75,000 125,200 1,502.40 Sampo 7/7/2015 75,000 12,343 1,757.25 Sanlam 7/7/2015 158,000 10,532 1,664.05 Schwab Corp 7/7/2015 37,000 32,390 1,198.43 Shire PLC 7/7/2015 31,000 32,390 1,198.43 Symrise AG 7/7/2015 383,000 4,605 1,763.71 Symrise AG 7/7/2015 383,000 4,605 1,763.71 Tar Motors 7/7/2015 30,000 33,060 91,80 Telenot 7/7/2015 31,000 30,950 </td <td></td> <td>NXP Semiconductors</td> <td>7/7/2015</td> <td>14,000</td> <td>96,470</td> <td></td>		NXP Semiconductors	7/7/2015	14,000	96,470	
Prudential 7/7/2015 56,000 47,860 2,680.16 Qualcom 7/7/2015 31,000 62,800 1,946,80 Quintilles Transnational 7/7/2015 31,000 72,886 2,258,66 Reynaolds America 7/7/2015 12,000 125,200 1,502,40 Sampo 7/7/2015 75,000 23,430 1,757,25 Sanlam 7/7/2015 158,000 10,532 1,664,05 Schlumberger 7/7/2015 26,000 84,200 2,189,20 Schwab Corp 7/7/2015 37,000 32,390 1,198,43 Shire PLC 7/7/2015 318,000 4,605 1,763,71 Symrise AG 7/7/2015 138,000 4,605 1,763,71 Symrise AG 7/7/2015 38,000 33,060 9,182,20 TAT Motors 7/7/2015 30,000 33,060 9,142,352 TAT Motors 7/7/2015 30,000 33,060 9,142,352 TAT Motors 7/7/2015 49,000 2,610		Provident Financial PLC				
Qualcom 7/7/2015 31.000 62 800 1,946.80 Quintiles Transnational 7/7/2015 31.000 72 860 2,258.66 Reynaolds America 7/7/2015 35.000 76.770 2,686.95 Rockwell Automation 7/7/2015 12.000 125.200 1,502.40 Sampo 7/7/2015 75.000 23.430 1,757.25 Sanlam 7/7/2015 158.000 84.200 2,189.20 Schlumberger 7/7/2015 26.000 84.200 2,189.20 Schwab Corp 7/7/2015 37.000 32.390 1,198.43 Shire PLC 7/7/2015 31.000 46.05 1,763.71 Symitse AG 7/7/2015 383.000 4.605 1,763.71 Symitse AG 7/7/2015 38.000 15.344 2,117.44 Tarwan Semiconductor 7/7/2015 30.000 32.660 991.80 Telenot 7/7/2015 30.000 33.660 991.80 Telenot 7/7/2015 49.000 26.10		Prudential	7/7/2015	56.000		•
Quintiles Transnational 7/7/2015 31.000 72.860 2,258.66 Reynaolds America 7/7/2015 35.000 76.770 2,686.95 Rockwell Automation 7/7/2015 12.000 125.200 1,502.40 Sampo 7/7/2015 75.000 23.430 1,757.25 Sanlam 7/7/2015 158.000 10.532 1,664.05 Schlumberger 7/7/2015 26.000 84.200 2,189.20 Schwab Corp 7/7/2015 37.000 32.390 1,198.43 Shire PLC 7/7/2015 31.000 4.605 1,763.71 Symrise AG 7/7/2015 138.000 4.605 1,763.71 Symrise AG 7/7/2015 383.000 4.605 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 30.000 38.690 1,663.67 Topdanmark 7/7/2015 492.000 2.610 <		Qualcom				
Reynaolds America 7/7/2015 35.000 76.770 2,686.95 Rockwell Automation 7/7/2015 12.000 125.200 1,502.40 Sampo 7/7/2015 75.000 23.430 1,757.25 Sanlam 7/7/2015 158.000 10.532 1,664.05 Schlumberger 7/7/2015 37.000 32.390 1,198.43 Shire PLC 7/7/2015 31.000 32.390 1,198.43 Shire PLC 7/7/2015 11.000 242.500 2,667.50 Sumitomo Mitsul Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 383.000 33.060 991.80 Tal Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 31.000 130.950 1,404.5 Topdanmark 7/7/2015 492.000 2,610		Quintiles Transnational				
Rockwell Automation 7/7/2015 12,000 125,200 1,502,40 Sampo 7/7/2015 75,000 23,430 1,757,25 Sanlam 7/7/2015 158,000 10,532 1,664,05 Schlumberger 7/7/2015 26,000 84,200 2,189,20 Schwab Corp 7/7/2015 37,000 32,390 1,198,43 Shire PLC 7/7/2015 11,000 242,500 2,667,50 Sumitomo Mitsul Trust 7/7/2015 383,000 4,605 1,763,71 Symrise AG 7/7/2015 383,000 4,605 1,763,71 Tarawan Semiconductor 7/7/2015 38,000 33,050 991,80 Telenot 7/7/2015 30,000 33,050 991,80 Telenot 7/7/2015 30,000 33,050 991,80 Telenot 7/7/2015 37,000 62,870 2,326,19 Thermo Fisher 7/7/2015 37,000 62,870 2,326,19 Thermo Fisher 7/7/2015 492,000 2,610		Reynaolds America	7/7/2015			
Sampo 7/7/2015 75,000 23,430 1,757.25 Sanlam 7/7/2015 188 000 10,532 1,664,05 Schlumberger 7/7/2015 26,000 84 200 2,189,20 Schwab Corp 7/7/2015 37,000 32,390 1,198 43 Shire PLC 7/7/2015 31,000 4,605 1,763,71 Sumitomo Mitsul Trust 7/7/2015 383,000 4,605 1,763,71 Symrise AG 7/7/2015 138,000 15,344 2,117,44 Taiwan Semiconductor 7/7/2015 62,000 22,960 1,423,52 TAT Motors 7/7/2015 30,000 33,060 991,80 Telenot 7/7/2015 37,000 62,870 2,326,19 Thermo Fisher 7/7/2015 11,000 130,950 1,40,45 Topdanmark 7/7/2015 43,000 36,600 1,663,67 Unilever 7/7/2015 43,000 36,600 1,683,67 Unilever 7/7/2015 44,000 42,710 1		Rockwell Automation	7/7/2015	12.000		
Sanlam 7/7/2015 158 000 10.532 1,664.05 Schlumberger 7/7/2015 26.000 84 200 2,189.20 Schwab Corp 7/7/2015 37.000 32.390 1,198 43 Shire PLC 7/7/2015 11 000 242.500 2,667.50 Sumitomo Mitsul Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 383.000 15.344 2,117.44 Tawan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilover 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 13.000 110.090		Sampo	7/7/2015	75.000		•
Schlumberger 7/7/2015 26.000 84 200 2,189.20 Schwab Corp 7/7/2015 37.000 32.390 1,198 43 Shire PLC 7/7/2015 11 000 242.500 2,667.50 Sumitomo Mitsul Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 138.000 15.344 2,117.44 Tawan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 Uñided Technologies 7/7/2015 12.000 127.480		Sanlam	7/7/2015			
Schwab Corp 7/7/2015 37.000 32.390 1,198 43 Shire PLC 7/7/2015 11 000 242.500 2,667.50 Sumitomo Mitsui Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 138.000 15.344 2,117.44 Talwan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 31.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 492.000 38.690 1,663.67 Unilorer 7/7/2015 44.000 42.710 1,879.24 Unilor Pacific 7/7/2015 44.000 97.740 1,368.36 Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 63.050 <td></td> <td>Schlumberger</td> <td>7/7/2015</td> <td>26.000</td> <td>84 200</td> <td>•</td>		Schlumberger	7/7/2015	26.000	84 200	•
Shire PLC 7/7/2015 11 000 242.500 2,667.50 Sumitomo Mitsui Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 138.000 15.344 2,117.44 Tawan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.990 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 32.000 67.770		Schwab Corp	7/7/2015			
Sumitomo Mitsul Trust 7/7/2015 383.000 4.605 1,763.71 Symrise AG 7/7/2015 138.000 15.344 2,117.44 Tawan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 492.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 32.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770		Shire PLC	7/7/2015	11 000		
Symrise AG 7/7/2015 138.000 15.344 2,117.44 Taiwan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 492.000 38.690 1,663.67 Unilever 7/7/2015 44.000 38.690 1,663.67 Unilor Pacific 7/7/2015 14.000 97.740 1,368.36 Unilor Pacific 7/7/2015 14.000 97.740 1,368.36 Unilor Pacific 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 12.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,		Sumitomo Mitsui Trust	7/7/2015	383.000	4.605	
Taiwan Semiconductor 7/7/2015 62.000 22.960 1,423.52 TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 <td< td=""><td></td><td>Symrise AG</td><td>7/7/2015</td><td>138.000</td><td>15.344</td><td></td></td<>		Symrise AG	7/7/2015	138.000	15.344	
TAT Motors 7/7/2015 30.000 33.060 991.80 Telenot 7/7/2015 37.000 62.870 2,326.19 Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 492.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 129.000 48.690 1,412.0		Taiwan Semiconductor	7/7/2015	62.000		
Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Unlon Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 41.000 47.880 1,963.08 Spring leaf Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Clig 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Miti Sch Bldg 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 100.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 10.5864 10,586.40 Delaware county OH 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 105.864 10,586.40		TAT Motors	7/7/2015	30.000	33.060	•
Thermo Fisher 7/7/2015 11.000 130.950 1,440.45 Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 32.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 41.000 47.880 1,963.08 Spring leaf Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 111.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110.695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 105.864 10,586.40		Telenot	7/7/2015	37.000	62,870	2,326,19
Topdanmark 7/7/2015 492.000 2.610 1,284.12 Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108.117 10,811.70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,0		Thermo Fisher	7/7/2015	11.000	130.950	
Tyco 7/7/2015 43.000 38.690 1,663.67 Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents S% Bond 7/7/2015 10,000.000 108.117 10,811.70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015		Topdanmark	7/7/2015	492.000	2.610	•
Unilever 7/7/2015 44.000 42.710 1,879.24 Union Pacific 7/7/2015 14.000 97.740 1,368.36 Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS MIti Sch Bldg 5% Bon		Тусо	7/7/2015	43.000	38.690	
Union Pacific 7/7/2015 14.000 97.740 1,368.36 United Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110.695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 <td< td=""><td></td><td>Unilever</td><td>7/7/2015</td><td>44.000</td><td>42,710</td><td></td></td<>		Unilever	7/7/2015	44.000	42,710	
Uhited Technologies 7/7/2015 13.000 110.090 1,431.17 Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108.117 10,811.70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110.695 11,069.50 IVY Tech Cmnty Clig 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS MIti Sch Bldg 5% Bond 7/7/2015 10,000.000 120.787 12,078.70		Union Pacific	7/7/2015	14.000	97.740	
Vertex 7/7/2015 12.000 127.480 1,529.76 Viacomm 7/7/2015 22.000 63.050 1,387.10 Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108.117 10,811.70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110.695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 115.883 11,588.30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 107.736 10,773.60		United Technologies	7/7/2015	13.000	110.090	•
Viacomm 7/7/2015 22,000 63,050 1,387.10 Visa Inc 7/7/2015 32,000 67,770 2,168.64 Voya Financial 7/7/2015 34,000 46,330 1,575.22 Xerox Corp 7/7/2015 123,000 10,580 1,301.34 Zoetis Inc 7/7/2015 41,000 47,880 1,963.08 Spring leaf Holdins 7/7/2015 29,000 48,690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS MIti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588.30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 107.736		Vertex	7/7/2015	12.000	127.480	
Visa Inc 7/7/2015 32.000 67.770 2,168.64 Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588.30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 107.736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000		Vìacomm	7/7/2015	22.000	63.050	·
Voya Financial 7/7/2015 34.000 46.330 1,575.22 Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588.30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 107.736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 <td< td=""><td></td><td>Visa Inc</td><td>7/7/2015</td><td>32.000</td><td>67.770</td><td></td></td<>		Visa Inc	7/7/2015	32.000	67.770	
Xerox Corp 7/7/2015 123.000 10.580 1,301.34 Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Voya Financial	7/7/2015	34.000	46.330	
Zoetis Inc 7/7/2015 41.000 47.880 1,963.08 Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 118 855 11,885.50 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Xerox Corp	7/7/2015	123.000	10.580	
Spring leaf Holdins 7/7/2015 29.000 48.690 1,412.01 Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120.830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107.736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118.855 11,885.50		Zoetis Inc	7/7/2015	41.000	47.880	
Arizona Brd Regents 5% Bond 7/7/2015 10,000.000 108 117 10,811 70 Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117.113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Spring leaf Holdins	7/7/2015	29.000	48.690	
Candian Riv Mun Wtr TX 5% Bond 7/7/2015 10,000.000 117,113 11,711.30 Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Arizona Brd Regents 5% Bond	7/7/2015	10,000.000	108 117	
Houton TX Rfdg Pub 5% Bond 7/7/2015 10,000.000 110 695 11,069.50 IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Candian Riv Mun Wtr TX 5% Bond	7/7/2015	10,000.000	117,113	•
IVY Tech Cmnty Cllg 5% Bond 7/7/2015 10,000.000 113.942 11,394.20 IPS Mlti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Houton TX Rfdg Pub 5% Bond	7/7/2015	10,000.000	110 695	
IPS MIti Sch Bldg 5% Bond 7/7/2015 10,000.000 115.883 11,588 30 South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120.830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107.736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118.855 11,885.50		IVY Tech Cmnty Cllg 5% Bond	7/7/2015	10,000.000		
South Vly SWR Dis UT 5% Bond 7/7/2015 10,000.000 120.787 12,078.70 Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120.830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107.736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118.855 11,885.50		IPS Mlti Sch Bldg 5% Bond	7/7/2015	10,000.000	115.883	
Sonoma Cnty CA 5% Bond 7/7/2015 10,000.000 120 830 12,083.00 Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		South Vly SWR Dis UT 5% Bond	7/7/2015	10,000.000	120.787	
Utah St Bldg 5% Bond 7/7/2015 10,000.000 107 736 10,773.60 Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Sonoma Cnty CA 5% Bond	7/7/2015			
Viregina ST Res 5% Bond 7/7/2015 10,000.000 105.864 10,586.40 Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Utah St Bldg 5% Bond	7/7/2015	10,000.000		
Delaware county OH 5% Bond 7/9/2015 10,000.000 118 855 11,885.50		Viregina ST Res 5% Bond	7/7/2015			
		Delaware county OH 5% Bond	7/9/2015			
		Total				253,292.02

FORM 990-PF	TNTEREST ON	SAVINGS	AND	TEMPORARY	CASH	TNVESTMENTS	STATEMENT	1
	THIRTHDIA ON	DUATIOD	תועה	T TOTAL OVENIA	CVOII	TM A FO TM FM TO	SIVIDINI	7

SOURCE	(A) REVENUE PER BOOKS	(B) NET INVESTMENT INCOME	(C) ADJUSTED NET INCOME
BLACKSTONE K-1	19.	19.	19.
COREFIRST	1,422.	1,422.	1,422.
FAMOUS HOLDINGS LLC K-1	49,597.	49,597.	49,597.
FIDELITY INVESTMENTS	6.	6.	6.
INTEREST FROM STATE & LOCAL			
GOVERNMENTS	1,113.	1,113.	1,113.
SCHWARTZ BENEFICIARY TRUST K-1	5,965.	5,965.	5,965.
US INTEREST INCOME	1,023.	1,023.	1,023.
WELLS FARGO #2337	2.	2.	2.
WELLS FARGO #5888	1,515.	1,515.	1,515.
TOTAL TO PART I, LINE 3	60,662.	60,662.	60,662.

FORM 990-PF	DIVIDENDS AND INTEREST FROM SECURITIES STATEMENT					
SOURCE	GROSS AMOUNT	CAPITAL GAINS DIVIDENDS	(A) REVENUE PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	
BLACKSTONE K-1	6.	0.	6.	6.	6.	
COREFIRST FAMOUS HOLDINGS	19,462.	10,902.	8,560.	8,560.	8,560.	
LLC K-1 FIDELITY	457.	0.	457.	457.	457.	
INVESTMENTS SCHWARTZ BENEFICIARY TRUST	4,062.	0.	4,062.	4,062.	4,062.	
K-1	23,243.	0.	23,243.	23,243.	23,243.	
WELLS FARGO #2337	1,483.	0.	1,483.	1,483.	1,483.	
WELLS FARGO #5888	923.	0.	923.	923.	923.	
TO PART I, LINE 4	49,636.	10,902.	38,734.	38,734.	38,734.	

FORM 990-PF OTHE	R INCOME		STATEMENT 3	
DESCRIPTION	(A) REVENUE PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	
K-1 INCOME NOT REPORTED ELSEWHERE	594.	594.	0.	
TOTAL TO FORM 990-PF, PART I, LINE 11	594.	594.	0.	

FORM 990-PF	ACCOUNTI	NG FEES	STATEMENT 4		
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME		(D) CHARITABLE PURPOSES	
TAX PREPARATION	910.	0.	0.	910.	
TO FORM 990-PF, PG 1, LN 16B	910.	0.	0.	910.	
FORM 990-PF (OTHER PROFES	SIONAL FEES	Si	PATEMENT 5	
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME		(D) CHARITABLE PURPOSES	
CONSULTING INVESTMENT MANAGEMENT	1,927. 7,116.		0.	963. 7,116.	
TO FORM 990-PF, PG 1, LN 16C	9,043.	8,080.	0.	8,079.	
FORM 990-PF	TAX	ES	Sī	FATEMENT 6	
	(A)		<i>(~</i>)		
DESCRIPTION	EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABLE PURPOSES	
DESCRIPTION FOREIGN TAXES	EXPENSES	NET INVEST-	ADJUSTED	CHARITABLE PURPOSES	
	EXPENSES PER BOOKS	MENT INVEST- MENT INCOME	ADJUSTED NET INCOME	CHARITABLE	
FOREIGN TAXES	EXPENSES PER BOOKS	MENT INVEST- MENT INCOME 65.	ADJUSTED NET INCOME 0. 0.	CHARITABLE PURPOSES 0.	
FOREIGN TAXES TO FORM 990-PF, PG 1, LN 18	EXPENSES PER BOOKS 65.	NET INVEST- MENT INCOME 65. 65. XPENSES (B) NET INVEST-	ADJUSTED NET INCOME 0. 0. ST -(C) ADJUSTED	CHARITABLE PURPOSES 0. 0. TATEMENT 7	
FOREIGN TAXES TO FORM 990-PF, PG 1, LN 18 FORM 990-PF	EXPENSES PER BOOKS 65. 65. OTHER E	NET INVEST- MENT INCOME 65. 65. XPENSES (B) NET INVEST-	ADJUSTED NET INCOME 0. 0. ST -(C) ADJUSTED	CHARITABLE PURPOSES 0. 0. TATEMENT 7 (D) CHARITABLE	

ER FUNDS		STATEMENT 8
	(A) BEGINNING OF YEAR	(B) END OF YEAR
	101,756.	1,794,914.
29	101,756.	1,794,914.
INVESTMENTS		STATEMENT 9
VALUATION METHOD FMV FMV FMV COST COST	558,050. 580,035. 229,879. 324,770. 108. 46,319.	FAIR MARKET VALUE 558,050. 580,035. 229,879. 324,770. 108. 46,319. 1,739,161.
ND PENALTIES		STATEMENT 10
. —		2,055
	INVESTMENTS VALUATION METHOD FMV FMV FMV COST COST COST	(A) BEGINNING OF YEAR 101,756. 29 101,756. INVESTMENTS VALUATION METHOD BOOK VALUE FMV 558,050. FMV 580,035. FMV 229,879. FMV 324,770. COST 108. COST 46,319. 13 1,739,161.

FORM 990-PF LIST OF SUBSTANTIAL CONTRIBUTORS STATEME PART VII-A, LINE 10						
NAME OF CONTRIBUTOR	ADDRESS					
THOMAS A SCHWARTZ	5100 SW 10TH AVE. SUITE 200 TOPEKA, KS 66604					
FAMOUS HOLDINGS LLC	5100 SW 10TH AVE. SUITE 200 TOPEKA, KS 66604					
HELEN M SCHWARTZ TRUST FBO KATHLEEN BROXTERMAN	1 5100 SW 10TH AVE. SUITE 200 TOPEKA, KS 66604					
HELEN M SCHWARTZ TRUST FBO THOMAS E SCHWARTZ	5100 SW 10TH AVE. SUITE 200 TOPEKA, KS 66604					

FORM 990-PF	LATE PA	YMENT PENALT	STATEMENT 12		
DESCRIPTION	DATE	TRUOMA	BALANCE	MONTHS	PENALTY
TAX DUE DATE FILED	05/15/16 11/15/16	2,055.	2,055. 2,055.	6	62.
TOTAL LATE PAYMENT PENALTY	•				62.

FORM 990-PF LATE PAYMENT INTEREST STATEMENT 13						EMENT 13
DESCRIPTION	DATE	AMOUNT	BALANCE	RATE	DAYS	INTEREST
TAX DUE DATE FILED	05/15/16 11/15/16	2,055.	2,055. 2,097.	.0400	184	42.
TOTAL LATE PAYMENT	INTEREST					42.